STXR
Sprarys

B & X
MEO—F K46268
i) =X TGT8830
B matia R TGT8830-07

BB TEN DRRIT. I SRt RE N e IEBELEZY,
HAERGRD—EBIIE, Fe8 -tV MEGTNADERRD HIET,

= tIHI 7?7 O UST v o



&8

=

GO Z3EXIZDLNT

HIESRDOYEIEERIZONT

Og

n ZHECOBRIE, TRiEE Z THE < ES W,

—
el

. b

© g

@ HanftieTA (0
@ FBand PR

@ HBELE

® fa %

X HEEBREKEIHARRES LU, KKIZREST
Dx—LTL—MIRRELTWET,

\v}

CfEgmo [ — | [ UTFozexELT
B ET,

[—] - vamd, MBAERTO D
RS 2 12 X0 B D

o T oA SICE NS T
TIEBHA L2\

3. RHESN[ ] 2 T0a b0, i@
FERAL LED, ISR EF 0T £
O AR S ETIHE £

4. fASMEO—ERICIE, L&Y MEFED
FHOEMN B £9°, TIHEXOBRIT MR 72
SV, EEERAER L ST R WER ST
v MRFEOHDORG & SH TN x££,

X BRI EFIC LY PERSPIK - MEZAR
TLHILEDBHY £,

REETS 3 Y A IERR AL 2 BB VSR S 72 &Y,
MR Z BT 0 & B o A5
PEREI BT 2 B0 D0 £,

Z DR OHHE T h O BEARAEIR . QU] 13,
BETHUIN R 9F T, LR L, BHaFRAT
HoThH, FEREMIZOWTITMEZR & 2 ZHE
SHETWEELEAELHY £,

MEER it O AR IF SRR F 121 ERE O HEREER T
T LETH, IEFIRBEEE TH->TH, #ih
e D THEREN D o TG A TR KO (2o
WTZHRSE T2 E £,

{REEIZDUNT

HER O UGEITMIED R & 72 £F DT, 17h
RNTL7ZE 0N,

Ui Ul e Bl at HE SR R s 7z 1IE L
HHBME R DGE1T., RIEORGNMTIRD F
TOTITEELIZES,




TGT8830 T vAATYA

2P7L—L
5
REE| s FE B B & A R &%k fii
1 1424940003 2P7L—ACP 1
2 1262461003 nvU—Y> 7777k 2
3 | 000011300M oU—Y e 10 2 | N, SWAf
4 | 087816200M =V 2
5 | 000739000M JoFEL 9 2
6 | ONA6 JIY—=A=v 7/ A M6 2
7 126416000M JaAf o 1
8 | 044097200M T % ; 8 1
9 [ PC032016 Yy 3. 2X16 1
10 | 000739000M JoFEY ;9 1
11 | 1424980003 J1L—AELCP 1
12 | BZ12025 ALK 8.8 M12X25 2
13 | WSAl2 NRAYFHR 3937 M1 2 2
14 | NC2L20150 XyrvALFyh 23 akZ M20X1. 50 1
15 | 080456000M WIS 1
16 | PC040032 JUEL 4X32 1
17 | 0008600000 DA X Fr—L7 L —h 1
18 | 1172720000 L 350~540rpm 1
19 | 1061640000 FYL s A4 a1 1




TGT8830 T vAATYA

IL—Ls

065-0011-1002

&S| & & & 5 T I < B i &%k fi
1 1570890003 AT L—ALCP 1
2 | ONA6 JV—=A=v 7L A M6 2
3 1262850004 24 KRCP ;01200 1
4 | CAP060060 Xrv7” 60X60X3. 2 1
5 126338000M HAR—hKEY ;16 1
6 | 000739000M Yo FEL ;9 1
7 126280000M F ¥ R 1
8 | BSZ08025 aBEZRLE 7T M8X25 4
9 [ NSPOS SAHHEATV TS b 4 M8 4
11 | 0009741004 NT 3 62X80 2
12 | J30206 T—Ra—I_X7 V7 30206 2
13 | J30208 T—Ra—I_7IJ 7 30208 2
14 | 0009750000 =Tyl y ; 40X80 2
15 | 000712000M Xy v ALFyh;M24X1. 5 2
16 | PC040032 JUEL 4X32 2
17 | 0009680004 Fyv7 ;62 2
18 | BXI1615050 ALl 10. 9 ¥ M16X1. 10
19 | 1384792003 ¥V 7L —ALCP 1
20 | 126176000M > CP 2
21 | ONAS1 J)—ZA=v7) A PT1,/8 2
22 | BZ12025 ALE 8.8 M12X25 2
23 | WSA12 NAYPHxR 397 M1 2 2
24 | 000976000M BRA—)VF v h;M16X1. 5 10
ASY | 0008550000 HXA¥YAS ;7. 00—12—6PR 2

_2_



TGT8830 T vAATYA

IL—Ls

24

WU
065-0011-1002
REE| s FE B B & A R &%k fii

25 | 0003780000 XA 2
26 | 0003850000 Fa—=7:7. 00—12 2
27 | 000853000C HRA—:5]X12 2
28 | 0009420000 NS ST 2 2
29 | 141439000M FL— 2
30 | BSZ08025 aFERLE 7T M8X25 2
31 | BSZ08020 afEFRLE 7T M8X20 4
32 | 080414100M T % ; 8 6
33 | NSP08 SABZATI TSy R 4 M8 6
34 | 1232820000 FGYL s A RNTAS 4
35 | 1339780000 STARY—Z7F~YL; 40 2
36 | 1263480000 T~ ;8800 2
37 | 1339060000 STAR~—Z75~L;31. 5 vy 1
38 | WRAOS eI HEx M8 4
39 | 1455770000 Ty 2
40 | WSA16 NEYFHR 3947 M16 10
41 | ONBS1 JYV—2=v7F )L B PT1,/8 2




GT8830 Uv¥A/ATYH

I82(1)

GE5-0011-1003

&S| & & & 5 T I < B i &%k fii
1 1422610000 NU—2g4h; TL 150A—100 1
2 | 1260351004 T ATV RYv 7 KCP 1
3 | 1294390003 RACP 1
4 | JCS307LLU o=y h3auy~xX7yY 7 CS307LLU 1
5 | DHCOS0 CHH AT T77F 80 1
6 | BZ12030 ALk 8. 8 M12X30 4
7 | NZ12 Fyh 8 232 M12 4
8 | WSAIL2 NREYP AR 397 M1 2 4
9 | 1260410000 v 7 R hR— 1
10 | 0008270000 PICH/"—; 3 1
11 | BZ06016 ALK 8. 8 M6X16 3
12 | 028833200M Ty ;6 3
13 | WS06 NREYPHR 297 M6 3




TGT8830 T vAATYA

I82(2)
JF9 (3) #HE1
\‘\
2K (3) HE2
9 FY (3) BB/
HEATHR
e
065-0011-1004
FiE S| B dn 3 B 1 S 1 O < I (EE:S ] 4

1 0838853000 PICY¥7 | 1

2 0796480000 NAYULFEY M5, 5X 20T 2

3 0925961000 & — 1

4 DHCO72 CHZRNAT TF 72 1

5 J6207LLU M—NA_XTY 7 6207LLU 3

6 J7207 ToX2TR—N_T YT 7207 1

7 D406210 FANT—) DA40X62X10 1

8 ORP062 OV 7 P—62 1

9 1260450000 T — 1

10 | 0838876003 AAFXYRY T A 1

11 | 0003480000 g —At 1

12 | 0003280000 Ny 1




TGT8830 T vAOTY4
Ik (3)

13317-4
065-0071-1005

REE| A & B A %k T
1 1260480000 a—XJ7 RKyT7 ;A 2
2 | 0925911000 n—Zffi a1 b 1
3 | 0925961000 F— 2
4 | 0838911000 R =Ar 3 16T 2
5 | J6306LLU R—=n~_X7Y 27 6306LLU 2
6 | KFC08070500 |~A 2% — Uaw<w/yl 8XT7X50 2
7 | 0838921000 RAYLE=A> ;15T 2
8 | J6206LLU A—N_XTVT 6206LLU 2
9 | DCO30 CHH¥ K AT Y7 30 2
10 - | 8018370000 vx 7 b 2
13 | TRT08016 6 hAXY 10. 9 M8X16 +~HY 8
14 | JNJ1006 n—7_7J7 NJ1006 2
15 | 0967561000 vA;30. 5X0. 6 4
16 | ONAS1 7V —A=vy 7V A PT1,/8 2
17 | 0926140000 TARZ7¥Y ;23T 2
18 | J7006 TUXa2TR—=NA_TY 7 7006 2
19 | GD304004 FA N —)L GD30X40X4 2
20 | GD455504 FA N —)L GD4A45X55X4 2
21 | 1260490000 n—X7 KyYy ;B 2
22 | 0838921000 R =F2 ;3 15T 4
23 | PS080025 AFYL T 8X 25 2
24 | 042322200M Jyiy ;16 2
25 | J6206LLU R—=nN_T7YV7 6206LLU 4
27 | DCO30 CHHERAD 27 30 2
28 | 0838911000 RYLE=Ar ;16T 2
29 | KFC08070500 | ~f aux— Uzgu</l 8X7X50 2
30 | J6306LLU R—=nN_T7YV>7 6306LLU 2

_6_




TGT8830 T rvAOTY4A

Ik (3)

R E S E B Woo& A FR {(EEAS fii
31 | 0937581000 ¥ 7k 74—2 2
32 | TRK08030 6 hARY 10. 9 Z7AI M8X30 4
33 | 092615000M Ty M1 2X16 4
34 | WSA12 NAEAYFHR 3937 M1 2 4
35 | ONA6 TV —A=v7) A M6 4
36 | 0838931000 TARZ7X¥Y; 23T 2
37 | J6006LLU R—=n_T7Y7 6006LLU 4
38 | DHCO055 CHEZ AU TF 55 2
39 | 0838921000 RYLE=Fr ;3 15T 2
40 | PS080025 RSV LT 8X 25 2
41 | 042322200M Jyiy ;16 2
42 | J6206LLU R—=nN_T7YV7 6206LLU 2
43 | DHC062 CHERAT TF 62 2
44 | 1261010003 BT TL—A A 2
45 | BZ12030 ALk 8.8 M12X30 4
46 | BZ12040 ALk 8.8 M12X40 8
47 | WSA12 NEPHR 3d7 M1 2 12
48 | 1384072003 0—X XY r—2A 2
49 | ONBSI 7V —RA=v7) B PT1,/8 6
50 | 1328740003 7L —k 2
51 | BX14035 ALk 10. 9 M14X35 4
52 | BX14045 ALK 10. 9 M14X45 4
53 | WSA14 NP Hx 337 M1 4 8
54 | 1384060003 kT =4 2
56 | 1261030003 H77L—ALCP ;B 2
57 | 1578530003 0—XXYr—2A; A 2 | @ 5817
58 | ONASI 7V —2=v 7L A PT1,/8 2
59 | 1328740003 FL— L 4
60 | BX14035 ALk 10. 9 M14X35 10
62 | BX14045 ALK 10. 9 M14xX45 6
63 | BX14055 ALK 10. 9 M14X55 4
64 | WSA14 NAxYPHR 337 M14 20
65 | 092607000M HF7—;15%X9 2
66 | 0838902003 k= 2
67 | CP06008 +F_axy M6 X8 4
68 | 1260420000 H—XT %7 ;88 2
69 | BX12030 ALKk 10. 9 M12X30 8
70 | WSA12 NEPHR 3d7 M1 2 8
71 | J6208LLU R—=nN_T7Y7 6208LLU 2
72 | J600SLLU R—=n_T7Y>7 6008LLU 2
73 | 1260430000 HT7—;41. 6xX41 2
74 | DHCO68 CHHE AT TF 68 2
75 | KFD10080500 | ~Af =2 y¥— UzsykZ 10X8X50 2
76 | WRA24 EI7 AR M24 2
77 | 000712000M Xy v ALFy b ;M24X1. 5 2
78 | WSA24 NREYPHx 337 M24 2
79 | PC040032 Ty 4X32 2
80 | 0666090000 A 0. 2 4
81 | 0871742000 n—Xy vy 7k 2




TGT8830 T vAATYA
K™ (3)

. -
RES| & oo E 5 I - {[EE fisi
82 | BX12030 ALK 10. 9 M12X30 8
83 | WSA12 NAPHR 3T M1 2 8
84 | KFD10080500 | ~f 22U % — UzaoykZ 7 10X8X50 2
85 | WRA24 IR M24 2
86 | 000712000M ¥y v ALFvy b ;M24X1. 5 2
87 | WSA24 NAFHR 33U M24 2
88 | PC040032 YUY 4X32 2
89 | 0445862000 FarkAfT A 35X0. 2 2
90 | 0445091000 DA NAE S 2
91 | 0732790000 HT— 2
92 | 056102100M HN— A ¥ 2
93 | J6207LLU R—=nN_T7Y7 6207LLU 4
94 | DHCO72 CHERNAD TF 72 2
95 | 083895200M H 73— 4
96 | 083896400M AT Y T I R—CP 4
97 | 083897000M HX—CP ;S 8
98 | BZ06012 ALk 8.8 M6X12 16
99 | BZ06020 ALk 8.8 M6X20 16
100 | WS06 NREYPHx 297 M6 32
101 | 0815250000 T2y b 6X6 8
102 | BX14045 ALE 10. 9 M14X45 4
103 | 087225100M Tyiy ;14 4
104 | WSA14 NREPHx 337 M14 4
105 | 1455880000 FAYL s X2 Ty 2




TGT8830 T vAATYA
K™Y (4)

13318-3 65
065-0011-1006
%S| B odh & S < I < R 1 %% ]

1 1260500000 n—47 RFyvs ; C 2
2 0838911000 NV =A2 ;16T 2
3 KFC08070500 | ~Af =z X — Jgry</yL 8X7X50 2
4 J6306LLU A—N_XTY 7 6306LLU 2
5 DCO30 CHZNADU 27 30 2
6 1260510000 Tx¥ 7 b XV r—X 2
7 0838911000 NLE=A2 ;16T 2
8 KFC08070500 | ~f 2% — Uagy</L 8X7X50 2
9 0838921000 NAYLE=A2 ;15T 2
10 | J6206LLU M—=NA_TY 7 6206LLU 4
11 | PS080025 AT 8X 25 4
12| 042322200M Uy x ;16 4
13 1260520000 X7 b b T=AY 2
14 | J6206LLU N—=NA_TY 7 6206LLU 4
15 | 0838921000 XYL =Fr ;15T 4
16 | DCO30 CHHENAT 27 30 4
17 | 0937581000 Y7 b, 74—2 4
18 | TRK08030 6 hAXRY 10. 9 ZARI M8X30 8
19 | 092615000M Ty M1 2X 16 8
20 | WSA12 NEXYPHX 34y M1 2 8
21 | ONA6 JYV—Z=y7 )L A M6 8
22 | 0838931000 TARZ7%Y; 23T 4
23 | J6006LLU R—=N_XTY7 6006LLU 8
24 | DHCO55 CHZKMADU 7F 55 4
25 1260530000 o—47 RyYr ;D 2

_9_




TGT8830 T vAATYA
K™Y (4)

13318-3
065-0011-1006
RES| & oo E 5 I - {[EE fisi

26 | 0838921000 RYLE=Ar ;15T 2

27 | PS080025 2SI 8X 25 2

28 | 042322200M Ty v ;16 2

29 | J6206LLU A—nNX7TY7 6206LLU 2

30 | DHC062 CHZRIADU 7F 62 2

31 | 0838911000 RYLE=A2 ;16T 2

32 | KFC08070500 | ~Af a2 7F%— UJzay~<yL 8XT7X50 2

33 | J6306LLU R—n_7UV>7 6306LLU 2

34 | DC0O30 CHZR AU Y7 30 2

35 | 1261071003 $771L—ALCP;C—L 1| Al
36 | 1261081003 #7771 —ALCP ; C—R 1| A1
37 | 1261171003 0—XXYr—2Z ;B 2

38 | ONA6 TV =A==y A M6 2

39 | 1328740003 ZFL—k 4

40 | BX14030 ALKk 10. 9 M14X30 4

41 | BX14035 ALk 10. 9 M14X35 6

42 | BX14045 ALE 10. 9 M14X45 6

43 | BX14055 ALK 10. 9 M14X55 4

44 | WSA14 NEPFHR 3a7 M14 20

45 | 092607000M HT—;15%X9 2

46 | 1261191003 NZ=A4r ;A 2

47 | 0838902003 kT = 2

48 | CP06008 +FRaxY M6 X8 4

49 | 1261202003 Y771 —ALCP ;D 2

50 | 0876442003 0—X XY r—2 2

_10_




TGT8830 T rAATYA

Ik (4)

REE| A E B s A R %k fii
51 | ONA6 7N —2=v 7L A M6 2
52 | 1328740003 ZFL— 2
53 | BX14030 AR 10. 9 M14X30 8
54 | BX14035 ALE 10. 9 M14X35 4
55 | BX14040 ALEF 10. 9 M14X40 4
56 | WSA14 NEAYFHR 337 M1 4 16
57 | 0871742000 n—X %7k 2
58 | BX12030 AL 10,9 M12X30 8
59 | WSA12 NREP A 337 M1 2 8
60 | 0871753000 n—xY 2
61 | KFD10080500 | ~f 2w F%— UzybZ 10X8X50 6
62 | WRA24 EIF AR M2 4 6
63 | 000712000M ¥y v ALFyh; M24X1. 5 6
64 | WSA24 NREPHx 337 M24 6
65 | PC040032 TJUEY 4X32 6
66 | 0445862000 FawvktfT A 35X0. 2 4
67 | 0445091000 N AT 4
68 | 0732790000 57— 4
69 | 056102100M At 4
70 | 1562190000 _R7J7:6207—2RSK 8
71 | DHCO72 CHENAD TF T2 4
72 | 083895200M 83— 4
73 | 083896400M 2T T HA—C P 2
74 | 126364000M AF YT HR—CP ; 2 2
75 | 083897000M HX—=SP ;S 8
76 | BZ06012 ALK 8. 8 M6X12 16
77 | BZ06020 ALK 8.8 M6X20 16
78 | WS06 NEYPHxR 237 M6 32
79 | 0815250000 T2y ki 6X6 8
80 | 1064730000 SV A A4y 59 2
81 | 1064740000 SYL A4 ar 60 2
82 | 1064750000 TV b4 ar 61 2

_11_




TGT8830 T vAATYA
AO—R 3427 — L

HEn—%

065-0011-1007
RES| & oo E 5 oo & A B {[EE T

1 | 0876470003 n—XZ7FL—k ;55 8

2 | 0876450003 0—RNg T 6 | SMillm—X
2 1259540003 n—XN\yY7 ;88 2 | Hhn—x
3 0839061000 AL EXY ;50T 6 | IMillm—%
3 | 1259550000 NYLFY ; 50T (88) 2 | e —&
4 | 0882090004 BT —b; 45 48

5 | BZ12035 AL 8.8 M12X35 48

6 | BZ12050 ALh 8.8 M12X50 48

7 [ WSAL2 NREPHFx 337 M1 2 96

8 | 042783600M Ty ;12 48

9 [NzZ12 Fvh 8 232 M12 48

10 | 0793553006 AL 48

11 | 074590100M RAK 48

12| 079356100M BA 2y 48

13 | BZ14050 ALk 8.8 M14X50 48

14 | WSAl4 NEPFHR 327 M14 48

15 | NZ14 Fvyh 8 2v=2 Ml4 48

16 | 0776990000 A5 17X0. 5 —

_12_




TGT8830 T vAATYA
Joo(1)

13320-2
065-0011-1008

RES| & oo E 5 oo & A B {[EE fisi
1 1261280004 Z257—CP ;P 2
2 | 126131200M 27— R 2
3 | ONA6 JV—A=v7) A M6 2
4 | 056369400M 7L E A 2
5 | NZC18200 Fwh 8 3 2 M18X2. 00 2
6 | 126337000M Ey;C20%X120 2
7 | WRA20 EI7Y¥HTR M20 4
8 | PC050036 JUEYy 5X36 4
9 | 083912000M =% 2
10 | WRA20 e AR M20 4
11 | PC050036 JYr 5X36 4
12 | 1261350003 V> ARy /RCP 2
13 | BXI20080 ALK 10. 9 T M20xX80 2
14 | NZ20 Fvyh 8 232 M20 2
15 | 126139000M Yo7 CP ;2 2
16 | ONB6 JY)—Z2=v7/L B M6 2
17 | 083960100M > CP 2
18 | BSZ10020 afEFALE 7T M10X20 2
19 | WSA10 NEFHR 327 M10 2
20 | 092604000M ny RCP ; 2 2
21 | 056369400M 7L E R 2
22 | NZC18200 Fvh 8 332 M18X2. 00 2
23 | 056357100M Yy 20X53 4
24 | PC050036 JUYEL 5X36 8

_13_




TGT8830 T vAATYA

> (2)
065-0011-1009
RES| & oo E 5 I - {[EE fisi
1 | 801442000M YyoZ7CP ;L 1| Al
1 801443000M Y. 7CP ; R 1| A
2 | ONB6 7V —A=v7) B M6 2
3 | BXI16050 ALK 10. 9 »r M16X50 4
4 | NZ16 Fwvhk 8 232 M16 4
5 126148000M EFYCP;F25X%X134 2
6 | BSZ10020 afHFRLE 7T M10X20 2
7 | WSA10 NEHPHF 337 M10 2
8 126150000M oy RCP 2
9 | KBB-2012B H—IR RTAXTY 7 B 20X23X12 4
10 | ONB6 JV—A=v7) B M6 2
11 | 126154000M ¥ 7 hCP 2
12 | WRAL6 IR M1 6 2
13 | WSAL6 NEPHR 347 M16 2
14 | NZ16 Fv bk 8 232 M16 2
15 | 056357100M L 20X53 2
16 | PC050036 7Y 5X36 4
22 | 1328750003 AT —CP 2
23 | 1328760000 AR r— 2
24 | WSA10 NREPHx 327 M10 2
25 | NSZ10 afZFyh 8 2= M10 2
28 | 1261622003 7L —hRCP; L 2
29 | 1261632003 7L —hRCP ;R 2
30 | BZ12030 ALk 8.8 M12X30 8

_14_




TGT8830 T vAATYA

> (2)
13221-3
065-0011-1009

RES| & oo E 5 oo & A B {[EE fisi
31 | WSA12 NREPHx 327 M1 2 8
32 | 126165000M 7 — 4
33 | KBB-2012B H—R RIAXTIY 7 B 20X23X12 8
34 | 026970100M Tyix ;14 8
35 | WSAl4 NAFHR 337 M1 4 8
36 | NZ14 JFvhk 8 232 Ml4 8
37 | ONA6 JV—A=v 7/ A M6 8

_15_




TGT8830 T vAATYA

Ay

065-0011-1010
RES| & oo E 5 I - {[EE fisi
1 135235000M oy Z7CP ;L 1| 2|
2 | 126345100M 7L —h 4
3 | BSZ08016 afHFRNLE 7T M8X16 8
4 | WSA08 NAYFHR 337 MS 8
5 | BSZ08100 afEFRLE 7T M8X100 2
6 | NSZ08 affFZFvh 8 2= MS 2
7 | 135240000M A7V 7 3 H1., 8X16X145 2
8 | 1350580000 n—>7;4. 5X6000 2
9 | 079496100M A Re—7CP 2
10 | 044617100M HT— 2
11 | BSZ08040 SaBERLE 7T M8X40 2
12 | WRAOS eI ATEx M8 4
13 | NSPO8 aABEATFYV Ty b 4 MS 2
14 | 135234000M nvyZ7CP ;R 1| A1

_16_




TGT8830 T vAATYA

ary

13323-

OES-OOTT-10

RES| & oo E 5 I - {[EE fid
1 1259560200 YUK CWP55X670X980 2
2 | 801445000M J4—J T RKCP 2
3 | NZA30200 Fvhkr 8 132 M30X2. 00 2
4 | 128055000M n—= 2
5 | KBB-2020B H=IRU RITARTYV 7 B 20X23X20 2
6 128059000M > CP 2
7 | ONAG JV—A=v 7/ A M6 2
8 | BSZ08020 SaHEZRNE T M8X20 2
9 125961000M EYCP;F25%X100 2
10 | BSZ10025 afAZRLE 7T M10X25 2
11 | WSA10 NEXYPHx 337 M10 2
12 | 1033-04 A—AxT)R PF1/4XPT1,/4 4
13 | KHO400800AP | =7 YH&—A 1,/4X800 1—4 2
14 | KHO401600DP | =7 YAH&—A 1,/4X1600 S901—4 2
15 | 2091-04 74— PT1,/4 1
16 | 1013-04 A—A=v 7/ PF1,/4XPT1,/4 2
17 | LNG21212 r—A7 707 LNG2—12,/12 2
18 | BZ06040 ALk 8.8 M6X40 2
19 | NP06 ATV T Fy b M6 2
20 | 1414800106 YU H  CWP55X210X480 2
21 | 125964000M FLCP;F30Xx103 4
22 | BZ12025 ALk 8.8 M12X25 4
23 | WSA12 NREPHx 337 M1 2 4
24 | KH0400630AP | =7 YA —A 1,/4X630 1—4 1
25 | KH0400800AP | =7 YA —A 1,/4X800 1—4 2

_17_




TGT8830 T vAATYA

ary

13323-

DES-011-10

RES| & oo E 5 I - {[EE fisi
26 | KHO401000AP | =7 YA —A 1,/4X1000 1—4 1
27 | 2091-04 74— PT1,/4 2
29 | LNG21212 R—2Ar7 77 LNG2—12,/12 2
30 | BZ06040 ALE 8. 8 M6X40 2
31 | NP06 ATV T7Fy b M6 2
32 | KHO403650AP | 7Y R—A 1,/4X3650 1—4 4
33 | CLF40M H75 FA PT1,/2 4
34 | 0007781000 N7T7F%v7 ;1,2 4
35 | 2081-08-04 Ty PT1/2XPT1,/4 4
36 | 0009830000 ARy T VT 1,/ 4 2
37 | 112156000M PRIV 1 /4 1
38 | 2083-04 =v7)v PT1,/4 3
39 | 098530000M F ¥ I 3
40 | BSZ08020 afFAZRLVE 7T M8X20 3
41 | WSAO8 NREXYPHF 337 MS 3
42 | 1281680000 ANRALFGNF2—T 5100 8
43 | ILT300 Avavay B4 4. 8X301 5
44 | 1259660003 AT —CP 1
45 | BZ12025 ALVE 8.8 M12X25 2
46 | WSA12 NREYPHR 337 M1 2 2
47 | 098530000M F ¥ R 1
48 | BSZ08020 afFAZRLVE 7T M8X20 1
49 | WSAO8 NREYPHR 337 MS 1

_18_




TGT8830 T vAATYA

ary

RES| & oo E 5 I - {[EE fisi
51 | 1570690000 a2y HF—2 2 1
52 | 157077000M 7L —h 1
53 4043-06-04 UNF7v>y 7 UNF9,/16—18XPT1,/4 3
54 | WSAO8 NAYFHR 337 MS 2
55 | 125960000M Fr;C25%X90 2
56 | PC050036 gy 5X36 4
57 | WRA24 EIVHTR M2 4 6
58 | BS06050 ALE 8. 8 M6X50 2
59 | 091298000M Jov¥ ;6 2
61 | NNF06 7704 marFry b M6 2
62 | WRAO6 eIV R M6 3
63 | 1001311000 My by 1,/4D 1
64 | 1009700000 Ty PF1,/4XPT1,/4 4
65 | 1033-04-08 AR—AxT)R PF1/4XPT3,/8 4
66 | 2083-04 =v7) PT1,/4 2
67 | 1033-04 AR—AxT)R PF1,/4XPT1,/4 2
68 | BZ06045 ALk 8.8 M6X45 1
69 | NP06 ATV T Fy b M6 1

_19_




TGT8830 T vAATYA

H—k

REE| A & B oo & A B {[EE fisi
1 | 1262881004 H—RKCP ; L 1
2 | 1262891004 H—RCP ; R 1
3 | 0882202004 2ZF—CP; L 1
4 | 0882222004 Z27—CP ; R 1
5 | BSZ10025 aBFERLE 7T M10X25 20
6 | NNF10 7504 )y M10 16
7 | BZ14035 AL 8. 8 M14X35 24
8 | NN14 T4ty M14 24
10 | 1262912004 H—FKCP;L—1 2
11 | 1262932004 H—FKCP ;R—1 2
12 | 0882202004 AF7—CP; L 2
13 | 0882222004 Z7—CP ; R 2
14 | 126303100M 777y NCP 2
15 | 1262950004 H—FKCP ; L—2 1
16 | 1262970004 H—FKCP ; R—2 1
17 | 1262991004 257—CP;L—2 1
18 | 1263011004 257—CP;R—2 1
19 | WSA10 NEFHR 327 M10 4
20 | 0006890000 =XV ;24 8

_20_




TGT8830 TrAOTvs
TORI(T23—)

13325-3
065-0011-1013

RES| 5 M T R <R 1) &%k fii

1 0839115004 HfiH T — A 6

2 | 073303400M =V 6 | @ 51F

3 | 802459000M 27V Al 6X12X26. 5 6

4| 073305100M LN— 6

5 | PS040025 ATYUTEY 4X25 6

6 | ONAG JI)—RA=v7)L A M6 6

7 | ONC6 7 —Z=v 7L C M6 6

8 | 083912000M B 6

9 | 083929100M HR—-KEY ;16 6

10 | 0872543004 BHA—/L ¥ 7 FCP ; L 1 | ® 26,27

11 | 0872553004 BmA—/L %7 hCP ; R 1 | ® 26,27

12 | 0936353004 RA—NT %7 FCP ; L 2 | ® 26,27 4F

13 | 0936373004 HRA—NT% 7 NCP ; R 2 | ® 26,27 ff

14 | 000739000M JrFEL: 9 6

15 | PC050036 JUEY 5X36 6

16 | PS050040 ATV TEY 5X40 6

17 | 0839274004 Yy UrPaAR—hF; L 3| Al
0839284004 xR —h; R 3| A
0473641003 xR — R ks

18 | 1548520000 ALY :16X6. 50—8—4PR 6

19 | 1548530000 Fa2—7:;16,/6. 50—8 6

20 | 081225000 BRA—/ ;5. 3751X8 6

21 | J6205LLU R—A_TVYU27 6205LLU 12

22 | 0812260000 hT— 6

23 | 000532000M Xy 6

_21_




TGT8830 T vAATYA
FTHORI(T95—)

065-0011-1013
RES| & oo E 5 I - {[EE fisi =
24 | 000762000M E R 6
25 | 072968100M Jyiv ;14 6
26 | NZ14 Fvhk 8 2v=2 M14 6
27 | WSAl4 NAYHR 337 M1 4 6
28 | 1290370004 ¥ U2 JN—CP ; L 2 | A
29 | BSPZ08016 afHSWYFHRLE 7 M8X16 12
30 | WRAOS eIV % M8 12
ASY - | 1556880000 ZALYAS:16X6. 50—8—4PR
31 | 000739000M VUFEY ;9
32 | 1290360004 ¥V HN—CP ;R 2 | A1

_22_



TGT8830 T v/ ATYA
THRIL (EE—)

065-0011-1014
REE| E s B WM A i {(EES T
1 1328591004 A"A =¥+ 7 hCP ; CE—L 1|
2 | ONA6 TV —=A=v 7L A M6 2
3 126337000M B ;C20Xx120 2
4 | 126338000M HFR—FE ;16 2
5 | 000739000M YoFEY; 9 2
6 | PC050036 7Y 5X36 2
7 | PS050040 ATV T 5X40 2
8 1262030004 vx U H¥AHR—bF; CE 2
9 | ONA6 TV —=RA=v7) A M6 2
10 | 1262041004 A A 2
11 | DCO6O CHZ b AT Y7 60 2
12| 073303400M =V 2 | ® 151+
13 | 073304000M ATV T A 2
14 | 126208000M LR— 2
15 | PS040025 AFY LT 4X25 2
16 | 1328560000 L% :16X9. 50—-8—6PR 2
17 | 1351060000 Fa—7:18%X8. 50—38 2
18 | 132858000C AF— LR A —IL 9
19 | J6205LLU R—=N_T7VYV7 6205LLU 4
20 | 0812260000 T — 2
21 | 1328601004 BRA—NT %7 CP ; CE—R IR
22 | 000762000M E A 2
23 | 072968100M Ty ;14 2
24 | NZ14 Fvh 8 2= M14 2
25 | WSA14 NREYPHR 337 M14 2

_23_




TGT8830 T vAATYA
THRIL (EE—)

065-0011-1014
RHEE] & & F 5 T N feke | G it
26 | 1290360004 ¥ U HX—CP ; R 1| A
27 | 1290370004 Py UL HNR—CP ; L 1| 2
28 | BSPZ08016 aBZSWYFHRLE 7 M8X16 6
29 | WRAOS eI R M8 6

ASY | 1329011000 16X9. 50—8 HAV&EKEA—I/IAS

_24_



TGT8830 T vAATYA

KT XK 3%
A& H dn & T LT - A < N % i
1| 1369770000 | V¥ 727 2
2 8019650000 | 2—R;9500X2700 1
3 | 1125540000 | 7TAHR—LEY ; 12V 1
4 | ILT200 Avvany 84 4. 7X202 10
5 | 1172730000 | Fa2DUH L /N—FACP 1 | ATvav

_25_




S—180504N

F E F #

FREEXM

EEEXM

L

RiREERM

e & 8 XM

i & & %M

Ui

REBEXMm

T o

AR A B XM

W ERm

066-8555

066-8555

098-4100

080-2462

086-1152

028-3172

983-0013

323-0158

485-0081

f700-0973

861-8030

885-1202

FE T LE®H 1 06 1 F i 2
TEL 0123-26-1123

FAX 0123-26-2412

0O 6 1 % #h 2
TEL 0123-22-5131
FAX 0123-26-2035

TEMEENFLEYOAYI191FMS 4
TEL 0162-82-1932
FAX 0162-82-1696

whhmAE22%d1 TE12FHh4
TEL 0155-37-3080
FAX 0155-37-5187

EEMMPERETIEEET2TAE16F2
TEL 0153-72-2624
FAX 0153-73-2540

BFREETRESETAEFHRT 11108 1208FEF3
TEL 0198-46-1311
FAX 0198-45-5099

BERRAUETERTFEPEFMA179—1
TEL 022-388-8673
FAX 022-388-8735

Wwm oA |/ hHF R 251 2 — 1
TEL 0285-49-1500
FAX 02685-49-1560

EHRNMDUTHAFIFBE 78— 1
TEL 0568-75-3561
FAX 0568-75-3563

MLUMBELUTLAETFTSPHF704—-103
TEL 086-243-1147

FAX 086-243-1269

EFERBEEHTERZ/NHMILE 1639 —1
TEL 096-389-6650

FAX 096-389-6710

EEHMAETEHATESHB 1003 -2
TEL 0986-53-2222
FAX 0986-53-2233

FE T L E & 1

w. 30. 05. 28S



